Opérations avec deux fractions mixtes (J)

Nom: Date: Note:

Calculez chaque résultat.

1 5§+2% =
2 5%+3% =
3 S%XI% =
4 5%+31—36=
5 Sg—l%z
6 11—59+5%=
7 5%+2% =
8 I;XSS =
9 1%x5% =
10. 5%+51—30 =
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Opérations avec deux fractions mixtes (J) Réponses

Nom: Date: Note:

Calculez chaque résultat.

1 5§+21—ﬂ+§—@+§—£—83
7 2 7 2 7 14 14 14 14
1 1 11 10 33 20 53 5

2533 =gt = gt T % T %
1 1 11 3 33

3 5§X1§—7X§— Z = 8-

,sl.oz3 16 51 _ 16 16 _ 2% _ 103
37716 3 16 3751 153 153

L s2_q9_ 27 39 _18 39 _ 6 _ .9
5 20 5 20 20 20 20 20

2,,7 _ 17,25 _ 51 25 _ 76 _ .4
3 9 3 9 9 9 9 9
g 1;><5§=1—70><%0= % =7Z_§
SFLIOP SN S
LR S U R VRV S VAU §

37710 3 710 3 753 159 — 159
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